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formules I et D.DOC

Théorèmes et formules dérivation / intégration

	NB  a × b = a . b = ab  !

(f+g) ' = f '+g'

(k×f) ' = k×f ', si k constante

(f × g) ' = f '× g + f ×g '

 \F(f;g) )1( EQ  ))
\s\up 11(/)
 =  g\s\up 4(2) EQ \s\do0( \F(f '×g−f×g ';) )

(g o f) ' = g ' o f × f '
	 EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12()f(x)+g(x)dx) =   EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12()f(x)dx) +  EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12()g(x)dx)
 EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12()k×f(x)dx) = k× EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12()f(x)dx)   (k est constante)

Intégration par parties
 EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12()f '(x)×g(x) dx ) = f(x)×g(x) -  EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12()f(x)×g '(x) dx )
 EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12()g '(f(x))× f '(x)dx) = g(f(x)) + K
 EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12()g '(u)× u ' dx) = g(u) + K.   Frormules en u

	(x) ' = 1

x\s\up 4( p) EQ  )
\s\up 6(/)
 = p× EQ  x\s\up 4( p−1)
p( ℚ; p ( 0

1;x) )1( EQ  ))
\s\up 12(/)
 = -x\s\up 4(2) EQ \s\do0( \F(1;) )

x )1( EQ  ))
\s\up 9(/)
 = x ) EQ \s\do0( \F(1;2) )

	(u) ' = u '

u\s\up 4( p) EQ  )
\s\up 6(/)
 = p× EQ  u\s\up 4( p−1)× u '

p( ℚ; p ( 0

1;u) )1( EQ  ))
\s\up 12(/)
=-u\s\up 4(2) EQ \s\do0( \F(1;) )
× u ' = u\s\up 4(2) EQ \s\do0( \F(- u ';) )

u )1( EQ  ))
\s\up 9(/)
 = u ) EQ \s\do0( \F(1;2) )
× u ' = u ) EQ \s\do0( \F(u ';2) )

	x\s\up 4( p) EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12() dx)
 = x\s\up 4( p+1) EQ \s\do0( \F(;p+1) )
+ K

(p (ℚ; p ( -1)

 EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12()k dx) = kx + K
x\s\up 3(2) EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12()) )
 dx)
 =  EQ \s\do0( \F(-1;x) ) + K
x )1; EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12()) )
d)
x = 2 EQ \r(x ) + K

	x\s\up 4( p) EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12() u'  dx)
 = u\s\up 4( p+1) EQ \s\do0( \F(;p+1) )
+ K

(p (ℚ; p ( -1)

 EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12()k u' dx) = ku + K
u\s\up 3(2) EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12()) )
 u' dx)
 =  EQ \s\do0( \F(-1;u) ) + K
u )1; EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12()) )
u' dx )
= 2 EQ \r(u ) + K

	(sin x) ' = cos x
(cos x)' = - sin x
(tan x )' = 1 +  EQ  tan\s\up 4(2) x 

ou (tan x )' = x)\s\up 6(2) EQ \s\do0( \F(1;) )

(cot x)' =  x)\s\up 6(2) EQ \s\do0( \F(-1;) )

	(sin u) ' = cos u × u '

(cos u)' = - sin u × u '

(tan u )' = (1+ EQ  tan\s\up 4(2) u).u '

ou (tan u )' = u)\s\up 6(2) EQ \s\do0( \F(u ';) )

(cot u)' =  u)\s\up 6(2) EQ \s\do0( \F(- u ';) )


	 EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12()cos x dx) = sin x +K
 EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12()sin x dx) = - cos x + K
2)1+ EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12()x dx)
)
 = tanx + K
2)1; EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12() x) )
 dx)
 = tan x + K
	 EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12()cos u u' dx) = sin u + K
 EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12()sin u u' dx) = - cos u + K
2)1+ EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12() u)
 u' dx)
 
            = tan u + K
2)'; EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12() u) )
 dx)
 = ta

n u + K

	(arcsin x)' = x\s\up 4(2)− EQ \s\do0( \F(1; )
) )

(arccos x)' = x\s\up 4(2)− EQ \s\do0( \F(-1; )
) )

(arctan x)' = x\s\up 4(2) EQ \s\do0( \F(1;1+) )


	(arcsin u) ' = u\s\up 4(2)− EQ \s\do0( \F(u'; )
) )

(arccos u) ' = u\s\up 4(2)− EQ \s\do0( \F(- u'; )
) )

(arctan u) ' = u\s\up 4(2) EQ \s\do0( \F( u';1+) )


	x\s\up 3(2)− EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12() )
) )
 dx)
 
       = arcsin x + K
x\s\up 3(2)+ EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12())
) )
 dx)
 
    = arctan x + K

	u\s\up 3(2)−u'; EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12() )
) )
 dx)
 
        = arcsin u + K
u\s\up 3(2)+u'; EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12())
) )
 dx)
 
        = arctan u + K


	(ln(x)) ' =  EQ \s\do0( \F(1;x) )
(ln|x|) ' =  EQ \s\do0( \F(1;x) )
exp\s\do 2(e) EQ \b\bc\(( x)
' =  EQ  exp\s\do 2(e)x
e\s\up 3(x) EQ \b\bc\(()
' =  EQ  e\s\up 3(x)
log\s\do 2(a) EQ \b\bc\(( x)
 =  EQ \s\do0( \F(1;x lna) )
a\s\up 3(x) EQ \b\bc\(()
' =  EQ  a\s\up 3(x) . ln a.


	(ln u) ' =  EQ \s\do0( \F(u';u) )
ln |u| =  EQ \s\do0( \F(u';u) )
exp\s\do 2(e) EQ \b\bc\(( u)
' =  EQ  exp\s\do 2(e)u . u'

e\s\up 3(u) EQ \b\bc\(()
' =  EQ  e\s\up 3(u) . u'

log\s\do 2(a) EQ \b\bc\(( u)
 =  EQ \s\do0( \F(1;u lna) ) u'

a\s\up 3(u) EQ \b\bc\(()
' =  EQ  a\s\up 3(u) . ln a . u'
	 \F(1;x) ) EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12()  dx)
 = ln|x| +K
e\s\up 3(x) EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12() dx)
 =  EQ  e\s\up 3(x) + K
a\s\up 3(x) EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12() dx)
 = a\s\up 3(x) EQ \s\do0( \F(;ln a) )
 + K

	 \F(u';u) ) EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12()  dx)
 = ln|u| +K
e\s\up 3(u) EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12() . u' dx)
 =  EQ  e\s\up 3(u) + K
a\s\up 3(u) EQ \i\in(\d\ba3() ;\d\fo1() ;\s\di 12()\s\ai 12() . u' dx)
 = a\s\up 3(u) EQ \s\do0( \F(;ln a) )
 + K



